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1) 'Dhingla', 'Bhidariya', 'Nathdwariya' are :-

1) Copper coins in circulation in mewar.

2) Carpet in mewar.
3) Women's headgear in mewar

4) Names of revenue taxes in mewar

1)~, msftm, <fr~ % -
1) ~it~~~~
3) iTcrr9 rtr ~ &-i ~
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2) ilcn9 rtr ~ ~ $ ~
4) ircn9 ~ ~ ~ &-i ~

2) In which site of Civilization has been found a eleven roomed large building?

1) Kalibanga 2) Aahar

3) Balathal 4) Bairath

2) ~ ~ CfWIT ~~mrr 'l1CR ~ ~ ~ ~ ~ it qp:rr <r:rr %?
1) CflI<:rtI€(JII

3) qfffi"~

2) ~

·4) ~

1) Ajith-Singh

3) Who was the author of the books' Vaidac Sar' and' Pooja padhathi'?

2) Abhay Singh

3

3) Jorawar .•Singh 4) Gaj Singh

3) '~' ~m '~ ~' ~rtr ~. ~ rtr?
1) ~.~ 2) ~ ftfu
3) ~ ~ 4) 1Nfftfu

4) What were' Matak', 'Vichayat', Chu-Sarai'?

1) The names oflocal taxes in Rajasthan
2) The names of regional cloths in Rajasthan

3) The names ofagricuIturaI implements
4) The local names of irrigation patterns

4) "lfGCI?, Pclel""ld, 'it~ ~ it?

1) ~it~~~~
2) ~ it ?;~n~ &-i ~ ~
3) ~ ~ &-i ~
4) ~ &-i mwfi &-i ~ ~
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5) Wh, re are the Havelis of ' Bachawato', 'Rampuriya'. 'Gulecha', 'Sethiyas' located in Rajasthan?

1) Jaisalmer 2) Sikar

3) Jodhpur 4) Bikaner

5) QU3ICl('1l ~1~gR<:!I, :JjrmT, ~ c6T ~~Wt<:!1~--:rR if ~ ~ %7
1) ;JHi~~~ 2) ~

6) The oldest Pattern of'Bhumijis style' of temple construction in Rajasthan is :-

1) The Jain temple of Sewari in Pali district
2) The Bhand dewata temple of Ramgarh

3) The Maha Naleshwar temple of Menal
4) The Somnath temple of Dungarpur

6) -n-0R~ if "~ ~" em~ ~~ %7
1) ~ fll#r Cf)f Wntr ~ ~ 2) ~ em 'qUS ~ ~

4) ~ em ~~ ~
7) Which saying is not true regarding santJasnathji?

1) He was born in 1482 AD in Katriyasar village in Bikaner.
2) He meditated for twelve year's in Katriyasar

3) He took 'Samadhi' in Katriyasar in 1506 AD
4) His teaching are collected in ' Sindhudhara' and 'Konda' Books

7) ~ \JlWff~ vIT ~ qft if ~ q)~ 00 ~. %7
1) ~ IiPf 1482 ~ cfICbI~~,~ CbctR<:!lfH lJlq if "2:'W I

2) CbctR<:!lfH if ~ 12 ersT ~ ~ em- I

3) 1506~. if, ~'"'Ql~CflctR<:!lfH if ~ * I '.' .'
4) ~~~T "~~" q "~" ~ "ri~ if ~ % I

i
!
I

I8) The Illustrated' Shrawak Pratikraman Churni' manuscrimis ip .\\{~iGr~t~19SfR;:tjfr~tPan?

1) Marwar 2) Mewar

3) Kotah 4) Dhundhar

8) "~ >lRlfu~ol eMU1" ~ fuBrct-"ri~ ~~ c6T fctB- ~ i,i%?:
1) '1T~

3) cfficr
2) ifcns
4) ~~
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9) Which code does not match?

Author
A) Matiram
B) Narharidas
C) Dayabai
D) Sornnath

I)A

3) C

9) ~ we ~ .;;tt ~?
(~'iICbt(

A) ~
B) cHSft&1ft
C) ~
D) ~U

l)A

3) C

2) B

4) D

Book

Lalit Lalam

Awtar Charitra
DayaBodh
Sujan Charitra

2) B

4) D

~
~~
\3iCRfR .~

~~

~~

10) When is the Festival of 'Jaljhulani - Ekadashi' Celebrated in Rajasthan?

1) Aashwin Shukla Ekadashi . 2) Kartik Shukla Ekadashi

3) BhacirtPad Shukla Ekadashi 4) Shrawan Shukla Ekadashi

10) \l1(fl'1~'" ~!?TT ~. ~ if cnq l=Rlm ;smrr %?
1)~~~~TT 2) ~~~@

3) ~ ~ ~~TT 4) ~ ~ ~~TT
11) Which code does not match?

Handicrafts

A) Horse's of Mamaji

B) Oabu print
C) Lakh Work

D) Azrak Print

Place
Basantgarh

Akola
Laxamangarh, Indragarh

Barmer

1) A

3) c
2) B

4) D

5
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II) ~~~~~?
1$«iCfj(ij I

A) ~~~
B) GF{nr.c
C) iYm5f Gf)T Cfi111

D) ~~

1) A

3) C

Gl{1;:~jll if
~

~~,~
~

2) B

4) D
12) "In India Thakur Kesari Singh Barhath is the only person who to eleminate the chain of Bondage of

mother India, Plunged his entire Family in the Freedom Strugle," who made this statement?
1) Mahatma Gandhi 2) Ras.Bihari Bose

3) Subhash Chandra Bose 4) Sardar Patel
12) "~if Z% ~ ~ Cb{1{)\"B$ ~ ~ ~ t ~/iqr@ l1lill ctT GRffiT ctT ~-m riT·~

~ Wm; ~ Wffif ~ q;?r (OCld-.ldl ~ ~ if ~ W:tri'i',it, 'q)2f'f ~ ~ ?
1) ~ <ITm 2) <1{1R/$ID GITB

3) ~~GITB 4) mm~
13) The Nehru Soviet land awardforthe Rajasthani translation of Russian story 'Gajban' was given' to

r '
whonr?

1) Mangat Badal 2) Komal Kothari

3) Vijaydan Detha 4) LaxmiKuIll<tfl Chundawat

13) m q)e:rr-m~ ~ ~, '~' .~Wm; Bl~;qd ~ ~ ~, RJm ..~. Tf'Q1?
~ " ,-';' ," - , j -: ..

1) ~~ 2) ~~

3) ~\ij;q~1'i ~e:rr 4) ~~ ~ f.[u!5Iqd

14) In which year did Governor - General Bentinck organised a Darbar of local ruler?

1) 1832 AD 2) 1834 AD

3) 1829 AD 4)1830 AD

14) ~ ~ ~ ~ 0f\if-i'r{if~~*'tr#r-mCl?T ~ ~ i3iIIQ1Md ~?

1) 1832~. 2) 1834 {.

3) 1829 {. 4) 1830 {.
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15) Who established the "Dholpur Prajamandal?"

1) Krishna Dutt Paliwal

3) Trilok Chand Mathur

15) "~ SI\J11"11l!51:"!" ctr ~ ~ ctr?
1) ~ e:n QIMlClII:"!

3) ~ % 11T~

2) Master Aadityendra

4) Amrut lal Payak

2) ~ 0iIRiI~

4) i3"liidl:"lll:"! ~

16) Who led the movement of "Shekha~ati Jakat Andolan"

1) Pt. Narotam Lal Joshi 2) Pt. Todarmal

3) Pt. Ram Karan Aasopa 4) Pt. Abhinn Hari

16) "~~ ~ ~" q)f ~ ~ ~?
1) ~. ~ ~ \Jll~ft

3) ~. (1"ICf){OI ~

2) ~. Cl!5{"I1:"!

4) ~.~m
17) At the time of Independence in which category as per Indian Constitution was Rajasthan-placed in ?

1) First Category 2) Second Category

3) Third Category 4) Fist and Third Category

17) ~ $" w:m ~ ~'~ WcmR $"' i3WR. ~ ~ q)fm?

l) ..~~ 2) ~~

3) ~.~ 4) srWf~~~
18) to rouse Social and Political awakening in Rajasthan when did Swami Dayanand first visited

Rajasthan ?

1) May 1866 2) July 1872

3) June 1865 4) September 1869

18) HI"IIf01Cb ~ (1\J1~RiCb ~$" ~ m ~ ~~ctr ~ <:rBIT CfiC( ctt?
1) llt 1866 2) ~ 1872

3) \Jff 1865 4) .~ 1869

19) Who set up the "Arya Samaj" in Mewar?

1) Vishnu Lal Pandya

3) GopinathSharma

2) Radha KrishnaSharma

4) Kanhaiya Lal Jadam
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19) ~ if "0Wl W1Pf' ~ ~ ~ ~?

1) Nwfftl iii qfum
3) ~~ ~l11f

20) Which code does not match?
Stage of Unification of Rajasthan

A) Third stage

B) Fourth stage
C) Fifth stage
D) Sixth stage

2 ) WCfl"fcp~R ~l11f

4)~~~

Date
18April, 1948
30 March, 1948
15May, 1949
26 January, 1950

1) A

3) C

20) ~ ~ ~ 1"tt ~?
~ qctlCf)~ul it mur

. fI; ;A1. !q:d'l.g:~
B) qg;~muT

C) ~ muT

D) ~~

1) A.

3) C

2) B

4) D
,I

qcb1Cf){UI ~

18 ~,1948
30~, 1948
15~, 1949
26~, 1950

2) B

4) D

21) Length of International boundary of Rajasthan state. is -
.; ",'-, \, ".' - \ ;. .',' j:.'- - " "; ,

1) 1,070 Kilometres 2) 4,850 Kilometres

3) 1,869 Kilometres 4) 5,920 Kilometres

21) ~ ~ c@ 3i~<r~;q B1m c@ ~ .~ -

1) 1,070 fcb~;'p:f\C:<o 2) 4;850\?b~14"lc<

3) 1,869 \?b{T114'ic< 4) 5,920 \?b~IJOjlc<

22) Tropic of Cancer passes through which-of the following districts of Rajasthan ?

1) Banswara and Udaipur 2) Banswaraand Dungarpur

3) Banswara and Chittorgarh 4) Udaipur and Chittorgarh

22) CflC5- 00 ~ ~ fl~Jf?bd ,if B ~ @lill B ~ ~~?
1) <:ll\jCfI,? I ~ ~

3) <:lIBCfI,? I ~ ~Jli$lli?

2) <:lIBCfIi$1~ ~

4) ~ ~ RrC'l1i$lli?

8
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23) Presently the Aravalli mountains exist as -

1) Folded Mountains

3) Residual Mounatains
23) ~ if ~ ~ RI~AH:g: -

1) ~ qcfuT t ~ if
3) ~TCC qcfuT t ~ if

2) Accumulated Mountains

4) Block Mountains

2) ~ qcfuT t ~ if
4) ~ qcfuT t ~ if

24) Bhorat Plateau in Rajasthan is situated between -

1) Mt. Abu and Ambamata

3) Jaisamand and Pratapgarh

24) ~-lR" if ~ q)f 1::f6l( ~ ~ -

1) ~ \3W{ - 3l~IAliil t cftq
2) ~-~tcftq
3) \Jj<:lflA~ - Sldlq~l~ t cftq
4) ifflil9~1~ - Rl\l'iW~<:I1 t cfffl

25) In local dialect steep sloppy rug~ed hillsin Sirohi district are called -

2) Kumbhalgarh and Gogunda

4) Bhensroadgarh and Bijolia

1) Chappar , 2) Bhakar
II

3) Girwa 4) Dang
25) ft.rUtT ~ if ffisr 11>1<1'9fti ~-~ q$I~~I' c5r ~ 'lfI1SIT if ~ :g: -

1) "t9Jln:

3) f1ncrr
2)~

4) rirr
26) Wakal, Watrak, Meshwo and Hatmati are the tributaries of which of the rivers?

2) Jakham

3) Sabarmati 4) Som

26) ~, ~, it~rqf \3fR"Q"m ~ ..mnw.n. ~:g:?
1) ~ ·2) \JlmI1l

3)fliiHAdJ L 4) BTA-

27) Winter rain in Rajasthan is caused by -

1) Retreating Monsoon

3) North - East Monsoon

2) South - West Monsoon

4) Mediterranean Cyclones

10 - .:. 9
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27) ~ if !:i~{1Gf)1~1'1~ m~-
1)~~U

3) l3ffi-~ ~ B
2) c;:fuur-GT~~-B

4) ~ iOISbClld! B
28) Vertisols is not found in which of the following districts of Rajasthan?

1) Jhalawar, Baran 2) Kotah, Bhartpur

3) Bundi, Banswara 4) Dholpur, Karauli

28) Clth:j)Rl r:rfr ~ t H9Rtf@{1 if B fcFr ~ if ~ ~ \iffiTI -

1) $'IIM1Cl/!$, cmt 2) cnlcT, .~

3) {cn, qlflql91 4) ~, cpfurft
29) Which one of the following forest types extends over the largest area in Rajasthan?

1) Tropical deciduous 2) Mixed deciduous

3) Sub - Tropical evergreen 4) Dry Teak

29) Hylfc}5d if B cCR-B q.:r ~ if ~ ~ if ~ ~ ~?

1) \3UJf •.~ ~ 2) ~ ~

30) At what place is the wood fossil park located in Rajasthan?

1) Gadisar 2) Akal

3) Tanot 4) Lodarwa
30) ~ it ~ ~~ll ~ (wood fossil park) ~. ~ 1:f{ m:m- ~?

1) ~ 2) ~

3) ~ 4) ~
31) On the basis of Geo-climatic evidences approximately how many years back desert did riot exist in

Rajasthan?

1) 1,000 2) 7,000

3) 10,000 4)25,000
31) 'It\ijijfClI4fciCf5 wnuTI t ~ 1:f{ ~ B ~ fc.mR qcf.~ ~ if ~ F.f)T .~ •...~.~?

1) 1,000 2) 7,000

3) 10,000 4) 25,000

10
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32) Which one of the following i.. the smallest agro-climatic zone in Rajasthan in cerms of Area '?

1) Humid South - Eastern Plain

2) Humid Southern Plain

3) Irrigated North -Western Plain

4) Flood - Prone Eastern Plain

32) ~ c6t ~ B ~ ~ ~ mcr~-~ "@US c5R-m t?
1) ~~-wTI~
2) ~ c:fuuTr ~
3) ~~~-m~·at.
4) rmp~~~

33) Soyabean in cultivated primarily in which of the Agro -Climatic zone's oi'R~Jasth~I1 ?

1) Flood - Prone Eastern Plain

2) Sub-Humid Southern Plain

3) Humid South - Eastern Plain

4) Irrigated North - Western Plain

33) ~;:i\I;qI€l"11 c6t "@ill ~ ~ fcIx:r ~ .~ "@US ~ ~ ~ c6t ~ t? 'l'T

1) ~ - ~ ~ ~, 2) IN - i3lW.~ .'~.
#I

3) ~~-~~ 4) fufmr~-~~
34) Tharparkar breed of cows is found in which of the following districts of Rajasthan?

1) Barmer and Jaisalmer

2) Ganganagar and Hanumangarh

3) Jalar and Sirohi

4) Ajmer and Bhilwara

34) el\{q«Cf){ ~ c5T ~ ~ in f.i'jifcba it u mn ~ it fl:wmt ~?
"

1) ~ ~ J1~wlit<
3) ~ ~ fuilm

35) Maximum part of net irrigated area of Rajasthan is irrigated by which of thefQl1~wiI1g ~9H~cesl
(2013 -14) ? ' " "

1) Canals

3) Tubewells
2) Tanks

4) Wells

10 - +:+ 11
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35) ~ ~ ~ ft.iftm ~ q)f ~f~fcfxFi 'q111HyiFcbd if B- ~ m if ~ tldl ; (2013 -14) ?

1) m 2) ~

3) ~ 4) gl\3lT
36) Which of the districts of Rajasthan are benefited by Jai Narain Vyas lift of Indira Gandhi Canal?

1) Jodhpur and Bikaner 2) Bikaner and Nagaur

3) Jodhpur and Jaisalmer 4) Bikaner and Jaisalmer

36) ~ ~ ~ ctt \i14'1({140( a::m:f ffitR B ~ ~ ~-if m ~ ~?
1) .~ \fci q'"'ICbI~{ 2) ~~.;WtR

3) ~ \fci Jlfl{t1G< 4) cfl(f)I~< \fci JtflMih

37) Which one of the dams built on river Chambal is D.Qtlocatedin Rajasthan State?

1) Gandhi Sagar 2) Rana Pratap Sagar

3) Jawahar Sagar 4) Kota Barrage

37) ~ ~ 111: Rfifu~-m ~ ~ ~ if ~ ~~?

1) mm rom
3)·~ m<R

38) The shortest National Highway with ,inRajasthan territory is -
•

1) NH No. 71 B 2) NH No. 79 A

3) NHNo.llC 4) NHNo. 3

38) ~ ~~if~mcr~~%-
1) ~~ff&:rr71B 2) ~~~79A

3) ~~mT llC 4) ~~~.3
39) Gudha - Kishoridas and Chouth-Ka-Barbara are famous for the.mining of -

1) Lead andZinc 2) Copper'

3) Iron - ore 4) Manganese
39) ~-~~iTftm1 0lR ~~-q)f-~ fm:T <SFR ~ fuD: ~ ~ % % -

1) mm tzci \!ffilT

3) ~ - \314'%

2) illGrr

4)~

10 - .:. 12



JeD

40) Minerals in producti .m of which Rajasthan holds almost monopoly in the Country -

1) Wollastonite, Garnet 2) Granite, Marble

3) Felspar, Gypsum 4) Lead-Zinc, Jasper

40) ~ ~ ~ if ~~ q?T ~~T if ~ ~~ % -
1) ci) J'n<:') 'i I~c: , illli9T

3) Q:)irElQI{, ~

41) Lime stone rock falls in the category

1) Igneous

3) Metamorphic

41) Lime stone q?T cpnCh{OI R9" w.PR" q?T %1

1) ~ (Igneous)

3) ChI<:!I'"f1RCl (Metamorphic)

2) ~, fill4FH
4) mm-~,~.

1) 10% 2) 20%

2) Sedimentary

4) None of the above

2) ~ (Sedimentary)

4) ~ if ~ -qfr.
42) The efflorescence is said to be moderate in bricks if salt deposits. cover ----~----- surface area

approximately

1) 10%

3) 30%

2) 20%

4) 50%

3) 30% ,4) 50%

42) ~ if ~ efflorescence ~ f.PRUT ~ "R ~ ---------- ~ ;sp:rr m-w %1
41

43) The percentage of impurities in fat lime is less than

1) 5% 2) 10%

3) 15% 4) 20%

43) ~ ~ it \3l~ q?T ~~m H9fB:1RslCl·B q)l1m-w % I

1) Portland Cement

3) Sulphate resisting Cement

2) Puzzolanic Cement

4) Quick setting Cement

1) 5%

3) 15%

2) 10%

4) 20%

44) Which of the following cements is recorpmended for under water construction ?

10 - +:+ 13
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44) Pt9ifcbtl il-?r r.tRm mite tIRT~ ~ Rmur %g ~ ~
1) 4'lbilog Wik
2) 4tii~l(11I'11 (Puzzolanic) ~
3) ~~mile
4) ~frn~ cmrIT mile

45) Water Cement ratio to determine compressive strength of cement is taken as

1) 0.2

3) 0.4

2) 0.3

. 4) 0.5

45) mtic ctT ~ ~ (compressive strength) ~ ~ qRr ~ mile Cf)T i31Tffil ~ % 1

1) 0.2 2) 0.3

3) 0.4 4) 0.5

46) Which of the following has maximum percentage in composition of Cement

1) Silica 2) Alumina.

3) Lime 4) Sulphur

46) Pt9iN>d it -?rmile if ~ ~~m (percentage) COT % I

1) fBRrtCbI 2) qi;rqP~'11

3) 't'fIT 4) ~
"'

47) The core of cross section of an exogenous tree is called

1) Sapwood

3) Heartwood

47) Exogenous ~~ €15~ tf)fC

1) ~

3) ~

2) Pith

4) Inner bark

(cross section) ~ ~ core 1t mar %1.

2) ~~

4)~·~·

48) The ductility of bitumen is expressed as

1) Time 2) Distance

3) Speed 4) None

48) ~ G!?T (if;:fr(if Iqrt arm M \ifTffi % 1

1) ~ 2) ~

3) 1Tfu 4) ~it~~

10 - .:. 14
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49) The maximum size of aggregate for Marshall test shr 11be

1) 1.5 mm 2) 2.5 rnm

3) 3.5 mm 4) 4.5 mm
49) 11r~ffitR if ~ ~ ~ tciMc q)F1if ~ ~ % I

1) 1.5 mm

3) 3.5 mm

2) 2.5 mm

4) 4.5 mm ,50) The softening point of various bituminous grades in (degree centigrade) for paving jobs vary between

2) 20-30

4) 70-100

1) 10-20

3) 35-70
50) ~ ~!;f?l'1 its q)f ~ A+lfuTtI softening point Rl9" Q~ if ~ % I

1) 10-20 2) 20-30

3) 35-70 4) 70-100

51) What shall be the ratio of modulus of elasticity to shear modulus of a material having poison's ratio
of 0.5
1) 3 2) 1.5

3) 1 4) 0.5

52) A cantilever beam is provided with a vertical prop at its free end. Its static indeterminacy will be:
•

1) Increased by two 2) Decreased by one

3) Increased by one 4) Remainsunaltered

53) For pure bending of a beam; which one of the following equation is valid foritsanai>,sis?

1) M = E = f
I R Y

3) M =i= f
st R Y

2) M = E = f
Z R y

4) M =2=[
R y I

where M: bending moment; I: moment of inertia; E: modulus of elasticity; f: bending stress at a
distance y: from neutral axis; R: curvature; Z: section modulus

54) A simply supported beam of a span, L is subjected to a point load, P at its mid-span. The maximum
deflection induced will be:

1) pIJ
96EI

2) pIJ
24El

3) pIJ
48El

4) PL3

8EI

where EI is flexural rigidity
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55) Area moment of inertia of a circular section of diameter D is :

1) 7?D3

32
3) nD3

64

2) TCD
4

32
4) TClJ4

64
56) A cantilever beam of a span L, is subjected a moment, P at its free end. The bending moment induced

at its support will be:

2) JlA

1) P/4

3) P/2

2) P/3

4) P
57) Radius of gyration of a column section having moment of inertia, I and cross sectional area A is:

3) IIA 4) IA

58) A column pinned at both the ends has length L and flexural rigidity EI can carry a critical load of:

1) 4TC2 E1 2) 2n2 E1

59) If width of rectangular cross section beam is increased by ten folds and keeping cross sectional area
unchanged then maximum shear stress will be :

1) Increased by 10 times 2) Reduced by l/LO"

3) Increased by five times 4) Remains unaltered

60) Static Indeterminacy of a beam fixed at both the ends is ;

1) 6

3) 2

2) 3

4) 1

61) The fundamental principle of surveying is to work frory the

1) Whole to the part 2) Part to the whole

3) Lower level to higher level 4) Highet level to lower level

61) Wf~ ~ ~ ~ ~ 0WR ~ ~ mcrr ~ -
1) ~ 'lWT B ~ 'lWT ctr cirt
2) ~1q:) 'lWT ~ 'lWT ctr cirt
3) ~ W B i3?crfr W ctr ~

4) ~WB~Wctr~
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62) When the curve is to be set out over a rough grc .nd, the method used is

1) Two Theodolite method 2) Rankine method

3) Tacheometric Method 4) either (1) or (3)

62) \llcT ~ ~ (~) ~~ en: cmJ c6rR~~ cnB'r~ err ~. fcrfu Cfll11 if ~ \JffifT % -
2) ):'1CfII{'l fcrr1:r
4) (1) ~ (3)

1) c;J f~gi)slMI~cfcrr1:r
3) ~chit{"lc<fcrfu

63) A light house of 120m height is just visible above the horizon from a ship. The correct distance (m)
between the ship and the light house considering combined correction for curvature and retraction is

1) 39.098 m 2) 42.226 m

3) 39098 m 4) 42226 m
63) 120 1ft. c8 ~ ~ ~ >rc5m~, ~ <:fR B ~ m~ ~ ~ % I ~ <:fR ~ >rCfIT~T~

~ clh:r c8 cjT (1ft. if) ~ ~, ~ cmKIT ~ cffi;, ~ ~ B~iT~ CflT' ~ if ~ \Jfrir -

1) 39.0981ft

3) 390981ft

2) 42.226 1ft

4) 422261ft

64) Two straight lines intersect at an agnle of 60°. The radius of a curve joining the two straight lines is
600m. The length of long chord and mid-ordinates in metres of the curve are

1) 80.4, 600.0 , 2) 600.0,80.4

3) 600.0, 39.~9 4) 49.89, 300.00
64) c;J mm ~ ~ W CflT 60° ~ CfiTaT en: cw;ill% I ~ GJ;:IT mm OOIW B00 ~ cmJ ~ ~ 600

1ft. % I ~ cmJ c8 cfuf vflcTT c8 ~ ~ 11m riTR ~ llR1fr. if. WTr -
1) 80A, 600.0

3) 600.0, 39.89

2) 600.0, 80A

4) 49.89, 300.00

65) In a closed loop traverse of 1 km, total length, the closing errors in departure and latitude are 0.3m
and OAm, respectively. The relative precision of this traverse will be

1) 1:5000 2) 1:4000

3) 1:2000 4) 1:3000
65) ~. fct.1ft. ctt ~ ~ ~'~ ~ ~IMI1@if, ~ ~ 01m~T Cf5t~ ~ ~ llR ~~T: 0.3 1ft.

~ OA 1ft. % 1 ~ ~ ~ c8 qlHqRCfI crR~ ~ ~

1) 1:5000 2) 1:4000

3) 1:2000 4) 1:3000
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66) The value of magnetic declination of magnetic bearing of ~. III at noon is 350°, is
l

1) 10° E 2) 10°W

3) 800 E 4) 80° W

66) me: ~ if wf c.nr '9J4€4c61~fe:Chl1H 3500m ill ~ ~ 1tii4ct\4 re:Cf)qlfl c.nr l1R ~ i'!lll -

1) 100 E 2) 100W

3) 800 E

67) Three - point problem can be solved by

1) Graphical method 2) Tracing paper method

4) 800W

3) Trail and Error method 4) All of these

67) ~ ~ fcfm ~ WTf mrr c6r ;m ~ % -
1) ~ ~ fclftr 2) ~ ~ fclfu
3) ?:Wfq ~ FcIftr 4) ~"ffIft

68) Instrument used for measuring area on a contour map is

1) Areameter 2) Clinometer

3) Planimeter 4) Graphometer

68) ~ l1HM';l COT ~ ~ CR'l ~ ~ ~ \3QCh<OI Gfir1 it Wrn \llfffi ~ -

1) ~ l1fClt 2) '1ml1IY'"'(

3) '1l111tj'IC{ 4) ri +rr:IT
69) Every 20m chain should be accurate to within

1) ±8mm 2) ±2mm

3) ± 5 mm 4) None of these

69) 20 Bt. $t ~ ~. fctB -mm if qft~. ~ ~
1) ±8mrn

3) ±5mm

2) ±2mm

4) ~ if"# coW ~
70) If cross sectional area of an embankment at 30m intervals a.r~.20, 40 .:69p50 and 30m2 respectively,

then volume of the embankment on the basis of prismoidalrule is

1) 5300m3

3) 4300m3

2) 8300m3

4) 6300m3

18



JCD

70) 30 1ft.~ ~ "CR ~ ~~ Cl?T ~ ~ ~~T: 20,40,60, 50 ~ 30 cpf 1ft.% IW~ Fcml
?t~~~Q)f~~~?

1) 5300 m3

3) 43001ft3
2) 83001ft3

4) 63001ft3

71) The item of the brick structure measured in sq.m is

1) Broken glass coping 2) Brick work in arches

3) Reinforced brick work 4) Brick edging

71) ~ ~ ?t ~ ~ cpf 1ft. if ~ ~ ~ -
2) ~ if fc: COT Cf)[l1

4) fc:?t ~
1) ¢~ !ilT!iT ctt ~
3) ~ fc: Cl?T CW1

72) The correct order of booking dimension is

1) Length X Breadth X Height

3) Height X Breadth X Length

72) ~, ~ i3llfe: c6r ~ COT B-tr ~ ~ -
1) ~X~X~

3) ~X~X~

,J

2) Length X Height X Breadth

4) None of the above

2)~X~X~

4) ~ if ~ ~ '1tf
, ,. ,

73) During preparation of a estimate, following factors are considered

1) Availability of material
2) Location of site
3) Location and availability of Labour

4) All the above

73) ~ i3WR ~ Wf<:f, f.:r;, if ~ ~. ~ c6r U[A" if 00 \rfTffi ~ -

1) Brnft ctt ~

3)~~~~~

2) ~ ~ ctt \If7T9

4) Ijq4Cffi B1TI

74) One mason in one day is expected to do the brick work in foundation andplinth with beldars are

1) 1.00 m' 2) 1.25 m'

3) 1.50 m' 4) 1.75 m''
74) ~ ~ ~ m~~ ~ ~, ~ ft.1 if ;fig ~ Nf~ ifm ~ fc: ~ ~ m cp) CflRT ~

1) 1.00 tFf 1ft.

3) 1.50 tFf 1ft.

2) 1.25 tFf 1ft.

4) 1.75 tFf 1ft.
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75) The most reliable estimate is

1) Detailed estimate

3) Plinth area estimate

75) -wr?r m~~ ~ ~-
1)~~

3)~~~

2) Preliminary estimate

4) Cube rate estimate

2)~~

4)~~~

76) The standard light of the standard rain gauge is

1) 60cm

3) 40 em

76) ~~~c6r~~~~
1) 60 em

3) 40 em

77) If the intensityof rainfall is 'm6teth'an the infiltration capacity ofsoil, then the infiltration rate will be

1) Equal to rate of rainfall

2) Equal to infiltration c£fpacify

3) More than rate of rainfall

4) More than infiltration capacity
••

77) iWR qffi~T c6rillwrr f?Ri1 c6rftmq Wfffi B- ~ ~, ill funq ~ ~,-,

2) 50cm

4) 30 em

2) 5dtm
4) 30cm

2) ftmq Wfffi ~ ~

4) ftmq~B~
1) crsrf c6r~ ~ ~
3) ~rtT~B ~

78) Humidity refers to

1) Temperature of air

3) Moisture content of air

78) 0TI9ill ~ CflTciT ~I
i) ~ ~.~ ..c6r
3) ~iJWIi~T c6r

79) Kharif crop sown in

1) In June

3) In October - November

2) Pressure ofait

4) Volume of air

2) crrg ~ cJqc6r
4) ~~ ~c6r

2) In 'September

4) None of the above
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79~ «ffiq;- ~ ~ ~ ~
1) \1fl if
3) ~-~it

2) ~q
4)~ q .()CIfl if "€t en){ 1tf

80) If in the harvest season when the river flow in low which method should be adapted for irrigation

1) Direct Irrigation 2) Storage Irrigation

3) Lift Irrigation 4) Irrigation by wells

80) ~ ~ t ~ if.ro COT~?Eli ~ ~ ~ t fW1; ~ fcrrll ~ ~

1) ~~~R

3) ~~~R

2) ~~~R

4) ~ if; &ru ~~R

81) A channel designed by Lacey's theory has a mean velocity of Im/sec. The silt factor is unity. The
hydraulic mean radius will be

1) 2.5m 2) 2.0 m

3) 1.5m 4) 0.5m
81) #ffir &i fW!:ccmr t i3TmR 1:R ~ ~ ~ it ~ ~ 7ffit 1m/sec. ~ Rwc ~. ~ ~/~l{~)Wi6fj

~~irft .
1) 2.5m

3) 1.5m

2) 2.0 m

'4) 0.5m
•

82) According to Kannedy's theory for channel design what thing of channel should be known?

1) Width 2) Depth

3) Length 4) Both (1) and (2)

82) ~ ~ &i ~. ~ f%\i1I{'i t fW1; ~ qft qm ~ -rr.fr ~
1) ~ 2)~

3) ~ 4) (1)~ (2)~

83) The difference in level between the top of a bank and supply level in a canal is called

1) Berm 2) Height of bank
,

3) Free board 4) None of above

83) ~ ~ &i & &i ~frsf~ ~ ~ mrT&i ~ i3lm c8 ~ \i11ill ~

l)~

3) ~~

2) de qft ~:ql{

4) \3q€lClfl it "€t ~ ~
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84) A deep well

1) Is always deeper than a shallow well
2) Has more discharge than shallow well
3) Is weaker structurally than shallow well

4) Both (1) and (2)

84) ~ ~ 3;i0TI
1) ~ \3"eWr ~ -?r ~~lT %U ~ %- I

2) q)f ~ ~ \3"eWr ~ -?r ~ ~r %- I
3) ~ \3"eWr ~ -?r B {'c1'11~Cf) ~ -?r ~ mn %-

4) ~ (1) -3fu: (2)

85) The yield of a well depends upon

1) Permeability of soil
2) Area of aquifer opening into the wells
3) Actual flow velocity

4) All of the above

85) ~ rtt qr;:IT ~ rtt ~ f.ri:R ~ %- I

1) ~ rtt qIPI"Q("I1
r <

2) ~~ it ~ cn#. \iWr em q)f ~
~ "\,3) """q1T::I«1Bjq-=Cf)~ crT

4) ~q €1 iffi B'lfr
86) The relation between duty (D) in hect./cumec, depth of water (~) in meters and base period (B) in

days is given by

1) ~ = 1.98B 2) ~ = 8.64B
D D

3) ~ = 1.98D 4) ~ = 8.64J:)
B B

86) ~ CD)%- ~~ it ~rtt ~. C:\ ) ~ it i3ffi: iro ~ (B) ~ it Bcifr %- I

1) ~ = 1.98B 2) A=8.64B.
D D

3) ~ = 1.98D 4) ~=8.64D
B B
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87) The optimum depth of kor watering for wheat crop, is

1) 13.5em 2) 17.5 em

3) 19.5 em 4) 23.5 em

87) it{ ctr 1:fimrr ~ ~ ~ qpft ctr ~ ~ %
1) 13.5em

3) 19.5em

2) 17.5 em

4) 23.5 em

88) A canal which is aligned at right angles to the contour is called

2) Contour canal

4) Water shed canal

1) Branch canal

3) Side slope canal
88) ~ m;it ~ ~~ ~ % Cb~(ijl\ll~

1) ~m
3) qr~cfGWf m

89) For diversion of flood water of rivers the type of canal constructed is

2) Ridge canal1) Canal

3) Perennial canal 4) Inundation canal
89) ~ ~ ~ ~ qpft ~ ~ ~ ~ ~ w.m: ctr m f.=r:IfuT~ \jffill %

1) m
3) ClI(QYI{1"1 m

2) ~.m
4) IJ1W~1ICl'i m

90) In a Concrete Canal, Preferential velocity of water is not maintained over the following

1) 0.5 m/Sec 2) 1.0 mlSec

.,3) 2.0 mlSec 4) 2.5 mlSec

90) ~ ~ ctr m if rt Cf)T~ irT f.i9MRsId B- i31fucn~ ~ \jffill % I

1) 0.5 mlSec

3) 2.0 m/Sec

91) A fully saturated soil is said to be

1) One phase system

2) Two phase system with soil and air
3) Two phase system with soil and water
4) Three phase system with soil, water and air

2) 1.0 mlSec

4) 2.5 mlSec

23
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91) ~ w ~ B- ~ ~ ~ \Jffif ~

1)~~
2) ~ 3fR ~ ~ W!!f?J ~

3) ~ 3fR qAT ~ W!!f?J ~

4) ~, qAT i3fR ~ ~ \W.T ~ \31CW-TI

92) Select the correct range of density index

1) O:s:;ID:s:;l

3) ID > 0
92) tFRr, fiil ChiCh c€t ~ BTliT CfiT 'q(:I'l cot

1) O:::;ID:::;l

3) ID>O

2) 0 < ID < 1

4) ID20

2) 0 < ID < 1

4) ID~O
93) When the Liquid limit of a soil is less than the plastic limit, then the plasticity index is reported as

1) Negative 2) . Zero

3) 1 4) Non-Plastic (NP)

93) iiKf ~ ~ c€t w:r W=rr l{<1ITktb "B1lfT U Cf)11t ill 0l1~Chctl fiilCfliCfl ~

"
1 ) :#:0 II CGCfl

3) 1

2) ~p:l"

4) lR l{<1ITkCfl
•94) The property of a soil due to which the loss in shear strength caused by remoulding can be regained

with the time is known as :-

1) Activity 2) Sensitivity

3) Thixotrapy 4) Consistency regain

94) ~ COT ~ TIT ~ RlO:jiws' I ~ ~ .~ ~ Bm&T if ~ ~ ~ W!!fTf=·mq m'~
t Cf)~~1C11~

1) qfcfcRltl 2) €im~fCltl
3) mCRit~ltfl 4) chRH~(j1 WR

95) Coefficient of curvature of a well graded gravel is

1) Less than 1

3) Lies between 3 and 6

2) Lies between 1 and 3

4) Greater than 6

I
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95) ~~w.w~Wm:~~~~1
1) 1B- Cf)l1

3)3$ 6t&

2) 1 JfR 3 ~ cftq

4) 6~

96) The correct increasing order of the surface areas of the given soils is

1) Sand, Silt, Colloids, Clay 2) Clay, Silt, Sand, Colloids

3) Silt, Sand, Colloids, Clay 4) Sand, Silt, Clay, Colloids

96) W) T[() ~ chl ~ ~ cpr mT ~ ~ ~
1) 'tl, fmrc, c6l{ijI~i5, q# 2) q#, fmrc,tr, <:h1<'11~i5

3) fmrc,W' c61(T1I~i5, Cf#r 4) tr,fmrc, q#, Cf)I<'1l~s

97) A sand deposit has a porosity of ± and its specific gravity is 2.5. The critical hydraulic gradient is

equal to

1) 1.0 2) 1.25

3) 1.50 4) 0.75

97) ~ iJfllT tr chl mmrr ± ~$ ~~~ ~ 2.5 ~ I ~ ~1~~WtCf) Gffi ~.~

1) 1.0

3) 1.50

'2) 1.25

4) 0.75

98) The property of a soil which permits water to percolate through it, is called

I) Capillarity 2) Consolidation

3) Permeability 4) Moisture content

98) ¥T cpr ~ ~ fIR:ffi ~ ~ if ~ tflT'ft cn1 fu:R ~, Cf)~(T11d I ~

1) ~~ 2) ~crlCf)<ol

3) QI<IIROldl

99) Consolidation settlement occurs due to

1) Expulsion of air voids
2) Expulsion of water voids

3) Re adjustment of soil molecules
4) Both (1) and (2)

4) .~ ..COT l1"&T
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99) ~~len{UI~ iR q:)f C"11UT %?
fi" " ~1) 1l'mICffi'!:l1 cnr l'1u:nIB'l

2) 'Wft RfcR1<Xi cnr HIXblfl1

3) ~ ij) ~\31T cnr Tf: fll"i 1'4"'I\JFI

4) (1) i3TR(2) ~

100) The initial and final void ratios of a clay sample in a consolidation test are 1.0 and 0.6 respectively.
the initial thickness of sample is 3.0 em then its final thickness will be

1) 2.0 em 2) 2.4 em

3) 2.8 em 4) 3.2 em

100)~ 6mCf){OI qfr~ if, ~ q# ~.qft ~ 0fu: ~ ~ ~ 1.0 i3lR0.6 ~~T: ~ ~ I ~
ctt ~ ~ 3.0 wn %, ill~ ~ ~ M
1) 2.0 em

3) 2.8 em

101) The failure Plane is direct shear test is: -

2) 2.4 em

4) 3.2 em

~ j

I
I
I

1) Weakest Plane

3) Vertical Plane

101)~~ ~ ~ if Pc!4?~dl ~ mill %
r

1) w;rB~~
3) @it ~

2) Major Principal Plane

4) Horizontal Plane

2)~~

4)~~

102) Contact pressure for flexible footing on any type of soil is : -

1) .Uniform
2) Varies with maximum at center
3) Varies with maximum edges

4) No specific trend of variation

102)fctBT ~ >JCl?R ctt ~ q{ q.fr ~ -frcrij) ffiQ; ti% mer mrrr ~
1) {iJ1I"1Pc1d{OI

2) ~ q{ ~ ij) m~ ~ Will ~
3) ~q{~ij)m~~~~

4) ~ ctt ~ Pc!T~ wffir 'ltt
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1(3) In a standard proctor test, the water contect (W~ and maximum dry density (yd max) are rela ed as

1) yd max is linearly proportional to W

2) yd max is inversely proportional to W

3) yd max corresponds to a unique value of W

4) None of above

103)~ ~ tRr&lUTif ~~T (W)~ ~ ~ ~ (ydmax)if ~ ~
T1TTT-=rrrr.::3t" " ~1) yd max, W fI'IljQlcll mm (>

2) yd max, W t cg)i3'b'lljQI\1/ men ~
3) ydmax, wt ~ l1R ~ ~ ~

4) ~ -q ~ 'lfr.~
104) Local shear failure may occur in : -

1) Very loose soils

3) Stiff clays only

104)~ ~ fCiChiiidl mill ~
.. ~~ii1) G@1 -,

3) ~ ~ fll¢ if

2) Loose sand and soft clays

4) Dense sand and stiff clays

2) ~tl~~~ii
4) tAT m I3ffi cotr q#r if

105) Rankine's theory of earth preslmre assumes that the back of the wall is

•1) Plane and rough 2) Plane and smoojh

3) Vertical and rough 4) vertical and smooth

105)~ t ~ zyr ~ t ~.~ em ~ mill %
1) ~ i3ffi ~ 2) ~ i3ffi fuCh;ft
·3) ~m~~ 4) ~~.~

106) In a RC beam of rectangular cross section the percentage of tension steel reinforcement provided is
o.5 and effecti ve depth is 50rhm.; The quantity of steel reinforcement provided such that the section
behaves as under reinforced section (Working stress method) and stress induced in the steel is 140Mpa.
The corresponding stress induced in compression concrete is :

1) 5Mpa

3) 4.2Mpa

2) 4.8Mpa

4) 1.4Mpa
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J n7! In a limit state design of a RC beam the desi n.strength of concrete to be taken as per IS cod.
recommendation is:
1) OAfck

3) 0.45fck

2) OA2fck

4) 0.48fck

Where f
ck
: concrete characteristic strength

108) Which one of the following represents effective width of flange of T-beam ?

1) :; +bw+3Df

3) :; +bw+6Df

2) l~ +bw+3Df

4) ~ +bw+6Df

109) Maximum allowed shear stress as per code in RC beam of M40 grade shall be :

1) 2.5Mpa

3) 4;OMpa

2) 3.5Mpa

4) 4.5Mpa

110) If welded fabric is used in RC wall having diameter equalto 16mrn; the minimum ratio of vertical and
horizontal reinforcements, respectively, to gross concrete area shall be :

1) 0.001 and 0.002

3) 9.0025 and 0.'002

2) 0.0012 and 0.002
4) 0.0025 and 0.0025

111) Which one of the following is not the correct about the shear reinforcement placing in a flexual
member?
1) 0.75d for vertical stirrups
3) Maximum spacing 300mm

2) d for inclined stirrups
4) Maximum spacing 450mrn

112) Minimum diameter of a longitudinal reinforcement in a RC column as per IS codal provisions shall be :

1) 16mm

3) 10mm

2) 12mm

4) 8mm

113) Which one of the following represents minimum requirements of reinforcement in a RCslab for
deformed bars ?

1) 0.15%

3) 0.10%

2) 0.12%

4) 0.06%
114) For a RC footing ratio of its long side to short side is 1.5. The ratio of reinforcement to be provided

in the central band width to total reinforcement in the short direction shall be :

1) 1.5

3) 1.25

2) 1.33

4) 0.80
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115) In a staircase Jesign with open well, where spans partly crossing at right angles occurs and flights are
embedded into walls for sufficient length. By what unit its effective breadth is to be increased for
design purpose as per IS code

10 - .:.

2) llOmm

4) 50mm

1) X

116) When drawing in 2D, what axis do you NOT work with?

2) Y )
i~I'\\
f;J.

~.

'"i I
i I
I tI I

I I
I 'II

3) z 4) WCS

116) ~ ~ 2D if ~ m m 01N ffiB ~ if cnp:f :!ID ~ m?
1) ~ (X) 2) ~ (Y)

3) ~ (Z) 4) ~ m ~ (WCS)

117) What is the minimum allowable number of layers in a drawing

1) 0 2) 5

3) 1 4) 2

117) fctm ~ if COlT U Cf)11 ~ wm ~ ~?

2) 5

4) 2

2) 4
4) Depend upon object

2) 4

4) i3iIClJiCfc 'R f.rlR ~ % I

2) Base point

4) Origin

2) ~~U
4) ~U

1) 150mm

3) 75mm

1) 0

3) 1

118) How many snap points does on object have?

1) 1

3) 5
118) l:% i3i1i§jJ\CfC if fcmFf ffi ~ ~ %?

1) 1

3) 5
119) Objects are rotated around the

1) Bottom of the object

3) Center of the object

119) i3ilqJ\CfC ~ ~ ~ (frR) "WIT%?
1) i3ilqJ\CfC ~ ~ B
3) i3ilqJ\CfC ~ ~ ~ B
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120) The origin of a drawin., is at?

1) (0,0)

3) (0,1)

120) fcRfr ~ cnr ~ ~ -mrr ~?

1) (0,0)
3) (0,1)

2) (1,0)

4) (1,1)

2) (1,0)

4) (1,1)


